NEW HOLLAND OPERATOR’'S

Vac Bagger MANUAL

For LS Yard Tractors with
42" and 48" Mowers

Model No.
715703001—T1N0001 & Up

\/

7 =

Sm— — S— — NEWHOLLAND ——
B— _ — — SERVICE = Bm—

Publications Number: 86629396
2/2001



Contents

Page

Introduction .......... ... .o, 2
Safety ... 3
SafetyDecals ...............co ... 3
SEtUP .ot e 4
LooseParts ...t 4
Preliminary Preparation .................... 5
Setting Up the Bagger and Mower ........... 6
Installing the Vac-Bagger................... 9
Removing the Bagger ..................... 12
Operation ...........ceviiviinnininnnnnnnnn, 15
Using the Full Bag Tester .................. 15
Emptying the Grass Bags . .................. 16
Adjusting the Height-of-Cut ................ 16
Clearing Obstructions from the Bagger ........ 16
Bagging Tips ........coooiiiiiiiiinen... 17
Maintenance ..ottt 18
Recommended Maintenance Schedule ........ 18
Cleaning the Bagger ...................... 18
Inspecting the Bagger ..................... 18
Caring for the Grass Bags .................. 19
Storage .......coiiiiiiii i 19

Introduction

Thank you for purchasing a New Holland product.

All of us at New Holland want you to be completely
satisfied with your new product, so feel free to contact
your local Authorized Service Dealer for help with
service, genuine replacement parts, or other information
you may require.

Whenever you contact your Authorized Service Dealer or
the factory, always know the model and serial numbers of
your product. These numbers will help the Service Dealer
or Service Representative provide exact information about
your specific product. You will find the model and serial
number plate at the location shown in Figure 1.

©New Holland Inc.—2001

Figure 1
1. Model and serial number plate

For your convenience, write the product model and serial
numbers in the space below.

% NEWHOLLAND

MODEL NO. SERIAL NO.

COMPONENT

NEW HOLLAND NORTH AMERICA, INC.

MADEINUSA

Read this manual carefully to learn how to operate and
maintain your product correctly. Reading this manual will
help you and others avoid personal injury and damage to
the product. Although we design, produce and market
safe, state-of-the-art products, you are responsible for
using the product properly and safely. You are also
responsible for training persons, who you allow to use the
product, about safe operation.

The warning system in this manual identifies potential
hazards and has special safety messages that help you and
others avoid personal injury, even death. Danger,
Warning, and Caution are signal words used to identify
the level of hazard. However, regardless of the hazard, be
extremely careful.

Danger signals an extreme hazard that will cause serious
injury or death if the recommended precautions are not
followed.

Warning signals a hazard that may cause serious injury or
death if the recommended precautions are not followed.

All Rights Reserved
Printed in the USA



Caution signals a hazard that may cause minor or
moderate injury if the recommended precautions are not

followed.

Safety
Safety Decals

Two other words are also used to highlight information.
Important calls attention to special mechanical
information, and Note emphasizes general information
worthy of special attention.

Safety decals and instructions are easily visible to the operator and are located near any
area of potential danger. Replace any decal that is damaged or lost.

N S

(C_ACAUTION )

SPRING LOADED TOP ASSEMBLY CAN
BRUISE OR PINCH OPEN BAGGER TOP =
BEFORE REMOVING FROM TRACTOR. &

TR92D7113

OR ENTIRE CATCHER IN PLACE
DANGER

KEEP HANDS and FEET AWAY

Molded into the Belt Cover

-

ADANGER )

S

+ ROTATING BLADES CAN CUT.
\ + KEEP HANDS AND BODY PARTS OUT

OF OPENING.
+ DO NOT OPERATE MOWER WITHOUT
b DISCHARGE CHUTE ATTACHED OR
ENTIRE BAGGING SYSTEM IN PLACE.

*STOP ENGINE BEFORE CLEANING
CHUTE. 790350 )

Molded into the Blower and Belt Cover

o |[A\DANGER]

7 + ROTATING PARTS CAN CUT OR PINCH.
1 O )) + DO NOT OPERATE THIS UNIT UNLESS
W\ ALL SHIELDS ARE FIRMLY IN PLACE.

» DO NOT REACH UNDER SHIELD. 79-0aso

Molded into the Belt Cover

DANGER )

ROTATING BLADES UNDER
ENTIRE MOWER DECK.

KEEP HANDS and FEET AWAY.
THROWN OBJECTS ARE 2
DANGEROUS. %
KEEP DEFLECTOR IN PLACE.
KEEP BYSTANDERS AWAY.

TR92D7108




Setup

Inifelalgc:Tiq) Save all parts and hardware that you remove from the mower while installing the vac bagger for use if you
remove the bagger.

Loose Parts
Note: Use the chart below to identify parts used for assembly.
Description Qty. Use
Double Pulley, 3-1/4 and 4-1/2 in. (42 in. 1
mower) .
. . Install the blower drive pulley
Double Pulley, 3-3/4 and 5-1/4 in. (48 in. 1
mower)

Grass baffle with 1 hole (42 in. mower)
Bolt, 3/8 x 1 in.
Locknut, 3/8 in.

Install the grass baffle (42 in. mower)

Grass baffle with 2 holes (48 in. mower)
Bolt, 3/8 x 1 in.
Locknut, 3/8 in.

Install the grass baffle (48 in. mower)

Pivot support
Bolt, 5/16 x 3/4 in.
Flange nut, 5/16 in.

Install the blower pivot support on the mower

Blower assembly

Spring

Bolt, #10 x 3/4 in.

Washer, 7/32in.

Nut, #10

Latch, long (48 in. mower only)
Latch, short (42 in. mower only)
Bolt, 1/4 x 3/4 in.

Washer, 1/4 in.

Locknut, 1/4 in.

Assemble the blower

Spring

Chain

Carriage bolt, 5/16 x 1-1/4 in.
Washer, 5/16 in.

Locknut, 5/16 in.

Install between footrest and mower

L O B T I T, I Gt s Uy L TN | TS G G Gy NG G Y TN O JE O (O




Use

Q0
<

Description

Bagger cover

Indicator rod

Handle

Jam nut, 1/4 in.

Clips

Pan-head bolt, 1/4 x 5/8 in.
Locknut, 1/4 in.

Frame hinge assembly -
Bolt, 1/4 x 3/4 in.

Locknut, 1/4 in.

Assemble the bagger

Belt cover (42 in. mower)
Bracket (42 in. mower)
Belt cover (48 in. mower)
Bolt, 1/4 x 1/2 in.
Locknut, 1/4 in.

Blower belt cover

Bolt, 1/4 x 5/8 in.

Install the belt cover

Bagger mount
Bolt, 3/8 x 1-3/4 in.
Locknut, 3/8 in.
Spacer

Hairpin cotter

Install bagger mount to tractor

Bag Mount into bagger cover

Discharge tube
Knob

Washer, 1/4 in.
Bolt, 1/4 x 3/4 in.

Assemble knob to discharge chute

‘_.a...n._.n._um_;[\).ml\)_sro_u\](ﬂ_s_;_;NN-L[Q[\)N_L_L_L_L

Pre"minary Preparation 4. Thoroughly clean the mower. All debris must be
removed to ensure that parts will fit the mower
1. Park the tractor and mower on a level surface, properly.

disengage the PTO, set the parking brake, stop the
engine, and remove the ignition key. :

2. Remove the spark plug wire(s) from the spark plug(s).

3. Lower the mower to its lowest position and remove the
mower from the tractor. Refer to the Mower
Operator’s Manual for removal instructions.



Thank you so much for reading.
Please click the “Buy Now!”
button below to download the

complete manual.

After you pay.
You can download the most
perfect and complete manual In

the world immediately.

Our support email:

ebooklibonline@outlook.com


https://www.ebooklibonline.com/downloads/new-holland-vac-bagger-for-ls-yard-tractors-with-42-and-48-mowers-model-no-715703001-t1n0001-up-operators-manual-instant-download-publication-no-86629396/



